

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

ERROR ESTIMATES FOR NUMERICAL SOLUTIONS OF CAUCHY-PROBLEM

ANDREI S. ANDREEV

The error estimations are obtained for Runge-Kutta's and Adams' methods for the numerical solution of the Cauchy-problem. The estimations are expressed by a new averaged modulus of smoothness, without additional conditions of smoothness of the solution of the equation. From the properties of the modulus series of estimates can be obtained under the various assumption for smoothness of the solution.

In this paper we shall consider the most commonly used methods of Runge-Kutta and Adams for numerical solution of the Cauchy-problem [1; 2]

$$(1) \quad \begin{aligned} y' &= f(x, y), \quad x \in [x_0, x_0 + A], \quad A > 0, \\ y(x_0) &= y_0, \end{aligned}$$

where the function f satisfies the condition

$$(2) \quad |f(x, y) - f(x, z)| \leq K|y - z|, \quad K - \text{absolute constant.}$$

Our purpose is to find estimates by means of the so-called averaged modulus of smoothness $\tau_k(f; \delta)_{L_p}$, $1 \leq p < \infty$, [3; 4; 5]. For a given function f which is defined in the interval $[a, b]$ the definition of the modulus $\tau_k(f; \delta)_{L_p}$ is

$$\tau_k(f; \delta)_{L_p} = \|\omega_k(f, \cdot; \delta)\|_{L_p}, \quad \text{where } \omega_k(f, x; \delta) = \sup \{ |\Delta_h^k f(t)|, \\ t, t + kh \in [x + k\delta/2, x - k\delta/2] \cap [a, b] \}$$

and $\Delta_h^k f(t)$ is the finite difference of the k -th order of the function f .

In [3; 5: 6] the following properties of the modulus $\tau_k(f; \delta)_{L_p}$ are proved:

- a. $\tau_k(f; \delta)_{L_p} \xrightarrow{\delta \rightarrow 0} 0$ iff f is integrable in the sense of Riemann;
- b. $\tau_k(f; \delta')_{L_p} \leq \tau_k(f; \delta'')_{L_p}$ for $\delta' \leq \delta''$;
- c. $\tau_k(f; \delta)_{L_p} \leq 2\delta V(f)$, where $V(f)$ is a variation of the function f ;
- d. $\tau_k(f; \delta)_{L_p} \leq \delta \|f'\|_{L_p}$;
- e. $\tau_k(f; \lambda\delta)_{L_p} \leq (2\lambda + 2)^{k+1} \tau_k(f; \delta)_{L_p}$, in the case when n is an integer number $\tau_k(f; n\delta)_{L_p} \leq n \tau_k(f; \delta)_{L_p}$;
- f. $\tau_k(f; \delta)_{L_p} \leq c(k) \omega_{k-1}(f'; \delta)_{L_p}$, where $\omega_k(f; \delta)_{L_p}$ is the usual modulus of f in L_p , i. e.

$$\omega_k(f; \delta)_{L_p} = \left(\sup_{0 \leq h \leq \delta} \int_a^{b-kh} |\Delta_h^k f(t)|^p dt \right)^{1/p}.$$

Further we shall use the following two lemmas:

Lemma 1 (well-known Whitney's theorem [7]). *For each integer $n \geq 1$ there is a constant $c(n)$ such that for each bounded function f in the interval $[a, b]$ the inequality*

$$\max_{a \leq x \leq b} |f(x) - P(x)| \leq c(n) \omega_{n+1} \left(f, \frac{a+b}{2}; \frac{b-a}{n+1} \right)$$

holds, where P is a Lagrange polynomial for f of degree n , constructed with respect to equidistant knots in $[a, b]$. In the case $n=1$, $c(1)=1$.

Lemma 2. *Let L be a linear bounded functional in the space $M[a, b]$ of all bounded functions on the interval $[a, b]$ and for every polynomial P of degree $\leq n$ the condition $L(P)=0$ is fulfilled. Then for each function $f \in M[a, b]$ the following estimate*

$$|L(f)| \leq \|L\|_M \cdot c(n) \omega_{n+1} \left(f, \frac{a+b}{2}; \frac{b-a}{2} \right)$$

holds, where $\|L\|_M$ is the norm of the functional L and $c(n)$ is the constant from Lemma 1.

Proof. By lemma 1 there exists a polynomial P of degree n for which $\|f - P\|_M = \sup_{a \leq x \leq b} |f(x) - P(x)| \leq c(n) \omega_{n+1} \left(f, \frac{a+b}{2}; \frac{b-a}{n+1} \right)$ and using the fact $L(P) = 0$ and a linearity of L we get

$$|L(f)| \leq |L(P)| + |L(f - P)| \leq \|L\|_M \|f - P\|_M \leq \|L\|_M c(n) \omega_{n+1} \left(f, \frac{a+b}{2}; \frac{b-a}{n+1} \right).$$

1. Runge-Kutta's methods. We shall consider the two simplest methods—Euler's method [1]

$$(4) \quad \begin{aligned} u_{i+1} &= u_i + hf(x_i, u_i), \quad h = A/n, \quad x_i = x_0 + ih, \quad i = 0, 1, \dots, n-1, \\ u_0 &= y_0 \end{aligned}$$

and the method with local error $O(h^3)$ [1]

$$(5) \quad \begin{aligned} u_{i+1} &= u_i + phf(x_i, u_i) + qhf(x_i + ah, u_i + \beta hf(x_i, u_i)), \quad i = 0, 1, \dots, n-1, \\ u_0 &= y_0, \end{aligned}$$

where the constants p, q, α, β satisfy the conditions

$$(6) \quad p + q = 1, \quad \alpha q = \beta q = 1/2.$$

A. Euler's method. From (1) and (4) we receive $|y_{i+1} - u_{i+1}| = |y_{i+1} - u_i - hf(x_i, u_i) + hf(x_i, y_i) - hf(x_i, y_i)| \leq |y_{i+1} - y_i + y_i - u_i - hf(x_i, y_i)| + h|f(x_i, y_i) - f(x_i, u_i)|$ and using (2) we have

$$|y_{i+1} - u_{i+1}| \leq (1 + hK) |y_i - u_i| + h |(y_{i+1} - y_i)/h - y'_i|.$$

As $|(y_{i+1} - y_i)/h - y'_i| \leq \omega(y', x_{i+1/2}; h)$ ($x_{i+1/2} = x_i + h/2$) from above inequality it follows

$$(7) \quad |y_{i+1} - u_{i+1}| \leq (1 + hK) |y_i - u_i| + h\omega(y', x_{i+1/2}; h).$$

Applying recursively (7) we obtain $|y_{i+1} - u_{i+1}| \leq (1 + hK) |y_i - u_i| + h\omega(y', x_{i+1/2}; h) \leq (1 + hK)^2 |y_{i-1} - u_{i-1}| + (1 + hK) h\omega(y', x_{i-1/2}; h) + h\omega(y', x_{i+1/2}; h) \leq \dots \leq (1 + hK)^i h\omega(y', x_{1/2}; h) + (1 + hK)^{i-1} h$.

$\omega(y', x_{3/2}; h) + \dots + h\omega(y', x_{i+1/2}; h)$ and from the last inequality it follows

$$\begin{aligned} |y_{i+1} - u_{i+1}| &\leq (1 + Kh)^n \sum_{k=0}^{n-1} h\omega(y', x_{i+1/2}; h) \\ &= (1 + \frac{KA}{n})^n \sum_{i=0}^{n-1} \int_{x_i}^{x_{i+1}} \omega(y', x_{i+1/2}; h) dx \leq e^{KA} \sum_{i=0}^{n-1} \int_{x_i}^{x_{i+1}} \omega(y', x; 2h) dx \\ &= e^{KA} \int_{x_0}^{x_0+A} \omega(y', x; 2h) dx = e^{KA} \tau(y'; 2h)_L = 2e^{KA} \tau(y'; h)_L. \end{aligned}$$

So we obtain

Theorem 1. *If we solve numerically the problem (1), (2) using Euler's method (4) the following estimate*

$$\max_{0 \leq i \leq n} |y_i - u_i| \leq 2e^{KA} \tau(y'; h)_L$$

holds.

B. The method (5), (6) with a local error $O(h^3)$. It follows from (6) that this system has one parametric solution

$$(8) \quad p = 1 - s, \quad q = s, \quad \alpha = \beta = 1/2s.$$

From (5), (6) and (8) we get

$$\begin{aligned} (9) \quad |y_{i+1} - u_{i+1}| &= |y_{i+1} - u_i - phf(x_i, u_i) - qhf(x_i + \alpha h, u_i + \beta hf(x_i, u_i))| \\ &= |y_{i+1} - u_i - (1-s)hf(x_i, u_i) + (1-s)hf(x_i, y_i) - (1-s)hf(x_i, y_i) \\ &\quad - shf(x_i + h/2s, u_i + \frac{h}{2s} f(x_i, u_i)) + shf(x_i + h/2s, y_i + \frac{h}{2s} f(x_i, y_i)) \\ &\quad - shf(x_i + \frac{h}{2s}, y_i + \frac{h}{2s} f(x_i, y_i))| \leq K|1-s|h|y_i - u_i| + K|s|h|u_i \\ &\quad + \frac{h}{2s} f(x_i, u_i) - y_i - \frac{h}{2s} f(x_i, y_i)| + |y_{i+1} - u_i - y_i + y_i - (1-s)hy'_i \\ &\quad - shf(x_i + \frac{h}{2s}, y_i + \frac{h}{2s} f(x_i, y_i))| \leq K|1-s|h|u_i - y_i| + K|s|h|u_i - y_i| \\ &\quad + \frac{K^2 h^2}{2} |u_i - y_i| + |u_i - y_i| + |y_{i+1} - y_i + (1-s)hy'_i - shf(x_i + h/2s, y_i \\ &\quad + \frac{h}{2s} f(x_i, y_i))| \leq C_1 |y_i - u_i| + C_2, \end{aligned}$$

where $C_1 = 1 + Kh(|1-s| + |s|) + K^2 h^2/2$, $C_2 = |x_{i+1} - y_i - (1-s)hy'_i - shf(x_i + \frac{h}{2s}, y_i + \frac{h}{2s} f(x_i, y_i))|$. Let's estimate C_2 . Successively we get

$$\begin{aligned}
 (10) \quad C_2 &= |y_{i+1} - y_i - (1-s)h y'_i - sh f(x_i + \frac{h}{2s}, y_i + \frac{h}{2s} f(x_i, y_i)) - h y'_{i+1/2} \\
 &\quad + h y'_{i+1/2} - sh f(x_i + \frac{h}{2s}, y_{i+1/2s}) + sh f(x_i + \frac{h}{2s}, y_{i+1/2s})| \\
 &\leq |y_{i+1} - y_i - h y'_{i+1/2}| + h |y'_{i+1/2} - (1-s)y'_i - s y'_{i+1/2s}| + |s| h |f(x_{i+1/2s}, \\
 &\quad y_{i+1/2s}) - f(x_{i+1/2s}, y_i + \frac{h}{2s} f(x_i, y_i))|,
 \end{aligned}$$

where $x_{i+1/2s} = x_i + h/2s$, $y_{i+1/2s} = y(x_{i+1/2s})$, $y'_{i+1/2s} = y'(x_{i+1/2s})$. We shall estimate the first term in the right side in (10)

$$\begin{aligned}
 (11) \quad |y_{i+1} - y_i - h y'_{i+1/2}| &= h |(y_{i+1} - y_i)/h - y'_{i+1/2}| = | \int_{x_i}^{x_{i+1}} (y'(t) - y'_{i+1/2}) dt | \\
 &= h | \int_{-1/2}^{1/2} (y'(x_{i+1/2} + th) - y'_{i+1/2}) dt | = h | \int_0^{1/2} (y'(x_{i+1/2} + th) - 2y'_{i+1/2} \\
 &\quad + y'(x_{i+1/2} - th)) dt | \leq h \int_0^{1/2} \omega_2(y', x_{i+1/2}; h/2) dt = \frac{h}{2} \omega_2(y', x_{i+1/2}; h/2).
 \end{aligned}$$

On the other hand

$$\begin{aligned}
 |f(x_{i+1/2s}, y_{i+1/2s}) - f(x_{i+1/2s}, y_i + \frac{h}{2s} f(x_i, y_i))| &\leq K |y_{i+1/2s} - y_i - \frac{h}{2s} y'_i| \\
 &= \frac{Kh}{2|s|} | \frac{y_{i+1/2s} - y_i}{h/2s} - y'_i | = \frac{Kh}{2|s|} | \frac{2s}{h} \int_{x_i}^{x_{i+1/2s}} (y'(t) - y'_i) dt | \\
 &\leq \frac{Kh}{2|s|} \omega(y', x_{i+1/4s}; h/2 |s|) \leq \frac{Kh}{2|s|} \omega(y', x_{i+1/2}; (1 + \frac{1}{|s|})h).
 \end{aligned}$$

At last we have to estimate the term $|y'_{i+1/2} - (1-s)y'_i - s y'_{i+1/2s}|$. To this end let us denote

$$(12) \quad a = \min(x_i, x_{i+1/2s}), \quad b = \min(x_{i+1/2}, x_{i+1/2s}).$$

Let P be an algebraical polynomial of first degree, which interpolates y' at the points a and b . By Lemma 1 we have

$$(13) \quad \max_{a \leq x \leq b} |y'(x) - P(x)| \leq \omega_2(y', \frac{a+b}{2}; \frac{b-a}{2}).$$

From (12) it follows $|y'_{i+1/2} - (1-s)y'_i - s y'_{i+1/2s}| \leq |y'_{i+1/2} - P(x_{i+1/2})| + |1-s| |y'_i - P(x_i)| + |s| |y'_{i+1/2s} - P(x_{i+1/2s})| + |P_{i+1/2} - (1-s)P_i - sP_{i+1/2s}|$ and in view of $P_{i+1/2} - (1-s)P_i - sP_{i+1/2s} = 0$ (this equality holds for every polynomial of degree at most 1) we get using (13)

$$(14) \quad |y'_{i+1/2} - (1-s)y'_i - s y'_{i+1/2s}| \leq (1 + |s| + |1-s|) \omega_2(y', \frac{a+b}{2}; \frac{b-a}{2}).$$

From (12) it follows that there exist constants $c_3(s)$ and $c_4(s)$ such that

$$(15) \quad (b-a)/2 = c_3(s)h, \quad (a+b)/2 = x_{i+1/2} + c_4(s)h$$

and finally from (14) and (15) we obtain

$$(16) \quad |y'_{i+1/2} - (1-s)y'_i - sy'_{i+1/2s}| \leq (1+|s| + (1-s))\omega_2(y', x_{i+1/2}; c_4(s)h);$$

$$c_3(s)h \leq (1+|s| + |1-s|)\omega_2(y', x_{i+1/2}; c_5(s)h),$$

where $c_5(s) = |c_4(s)| + c_3(s)$. From (9), (10), (11), (16) it follows

$$|y_{i+1} - u_{i+1}| \leq (1 + Kh(|1-s| + |s| + Kh/2)) |y_i - u_i| + \frac{h}{2}\omega_2(y', x_{i+1/2}; h/2)$$

$$+ \frac{Kh^2}{2}\omega(y', x_{i+1/2}; (1 + \frac{1}{|s|})h) + (1 + |s| + |1-s|)h\omega_2(y', x_{i+1/2}; c_5(s)h).$$

Applying recursively the last inequality we obtain

$$(17) \quad |y_{i+1} - u_{i+1}| \leq \sum_{k=0}^i (1 + Kh(|1-s| + |s| + \frac{Kh}{2}))^{i-k} \{ \frac{h}{2}\omega_2(y', x_{k+1/2}; \frac{h}{2})$$

$$+ \frac{Kh^2}{2}\omega(y', x_{k+1/2}; (1 + \frac{1}{|s|})h) + (1 + |s| + |1-s|)h\omega_2(y', x_{k+1/2}; c_5(s)h) \}.$$

Let us denote $|s| + |1-s| + Kh/2 = |s| + |1-s| + KA/2n \leq |s| + |1-s| + KA/2 = c_6(s)$, $1 + |s| + |1-s| = c_7(s)$. Then from (17) we get

$$\max_{0 \leq i \leq n} |y_i - u_i| \leq (1 + c_6(s)KA/n)^n \sum_{k=0}^{n-1} \{ \frac{h}{2}\omega_2(y', x_{k+1/2}; h/2) + \frac{Kh^2}{2}\omega(y', x_{k+1/2};$$

$$(1 + \frac{1}{|s|})h) + c_7(s)h\omega_2(y', x_{k+1/2}; c_5(s)h) \} \leq \exp(c_6(s)KA) \sum_{k=0}^{n-1} \{ \frac{1}{2} \int_{x_k}^{x_{k+1}} \omega_2(y',$$

$$x_{k+1/2}; h/2) dx + \frac{Kh}{2} \int_{x_k}^{x_{k+1}} \omega(y', x_{k+1/2}; (1 + \frac{1}{|s|})h) dx + c_7(s) \int_{x_k}^{x_{k+1}} \omega_2(y',$$

$$x_{k+1/2}; c_5(s)h) dx \} \leq \exp(c_6(s)KA) \sum_{k=0}^{n-1} \{ \frac{1}{2} \int_{x_k}^{x_{k+1}} \omega_2(y', x; h) dx$$

$$+ \frac{Kh}{2} \int_{x_k}^{x_{k+1}} \omega(y', x; (3 + \frac{1}{|s|})h) dx + c_7(s) \int_{x_k}^{x_{k+1}} \omega_2(y', x; (c_5(s) + 1)h) dx \}$$

$$\leq \exp(c_6(s)KA) \int_{x_0}^{x_0+A} \{ \frac{1}{2} \omega_2(y', x; h) + \frac{Kh}{2} \omega(y', x; (3 + \frac{1}{|s|})h)$$

$$+ c_7(s)\omega_2(y', x; (c_5(s) + 1)h) \} dx = \exp(c_6(s)KA) \{ \frac{1}{2} \tau_2(y'; h)_L$$

$$+ \frac{Kh}{2} \tau(y', (3 + \frac{1}{|s|})h)_L + c_7(s)\tau_2(y'; (c_5(s) + 1)h)_L \}.$$

From the last inequality we get (using the properties (3))

Theorem 2. *If we solve numerically the problem (1), (2) using the methods (5), (6) the following estimate*

$$\max_{0 \leq i \leq n} |y_i - u_i| \leq c(s) \{ \tau_2(y'; h)_L + h\tau(y'; h)_L \}$$

holds.

From the proof of the theorem 2 it is clear that the constant $c(s)$ can be estimated successfully for a given s .

2. Adams' methods. *A. Extrapolation formulas.* Let us take that we know the approximate values u_0, u_1, \dots, u_i , of the solution y of (1) at the points $x_j = x_0 + jh, j = 0, 1, \dots, i$. So we know the approximate values u'_0, u'_1, \dots, u'_i of y' at these points. Using Newton's backwards interpolated formula at the points $x_i, x_{i-1}, \dots, x_{i-k}$ we have [1]

$$\begin{aligned} u'(x_i + th) &= u'_i + \frac{t}{1!} \Delta_h u'_{i-1} + \frac{t(t+1)}{2!} \Delta_h^2 u'_{i-2} + \dots \\ (18) \quad &+ \frac{t(t+1) \dots (t+k-1)}{k!} \Delta_h^k u'_{i-k} + R_k(t), \quad (x - x_i)/h = t, \end{aligned}$$

where $R_k(t)$ is the error. The term $R_k(t)$ in (18) can be neglected and integrating we have

$$\int_{-j}^1 u'(x_i + ht) dt = \int_{-j}^1 \left\{ u'_i + \frac{t}{1!} \Delta_h u'_{i-1} + \dots + \frac{t(t+1) \dots (t+k-1)}{k!} \Delta_h^k u'_{i-k} \right\} dt$$

The last equality can be written in the form

$$(19) \quad u_{i+1} = u_{i-j} + h \left\{ (1+j)u'_i + \sum_{s=1}^k \alpha_{sj} \Delta_h^s u'_{i-s} \right\},$$

where

$$\alpha_{sj} = \int_{-j}^1 \frac{t(t+1) \dots (t+s-1)}{s!} dt.$$

If we expand the finite differences in (19) then (19) can be written in the form

$$(20) \quad u_{i+1} = u_{i-j} + h \sum_{m=0}^k \beta_{jm} u'_{i-m}.$$

Let us mention that for every polynomial P of degree at most k the following equality

$$\int_{-j}^1 P(x_i + ht) dt = \int_{-j}^1 \left\{ P_i + \frac{t}{1!} \Delta_h P_{i-1} + \dots + \frac{t(t+1) \dots (t+k-1)}{k!} \Delta_h^k P_{i-k} \right\} dt$$

holds ($R_k(t) = 0$ in (18)) and therefore

$$(21) \quad \int_{-j}^1 P(x_i + ht) dt = \sum_{m=0}^k \beta_{jm} P_{i-m}.$$

We shall estimate the error $\varepsilon_i = u_i - y_i$, $i = 0, 1, \dots, n$, $h = A/n$. The exact solution of (1), (2) satisfies equality of the type

$$(22) \quad y_{i+1} = y_{i-j} + h \sum_{m=0}^k \beta_{jm} y'_{i-m} + r_i.$$

First we shall estimate $|r_i|$. In this connection we consider the linear functional

$$L(g) = \int_{-j}^1 g(x_i + ht) dt - \sum_{m=0}^k \beta_{jm} g_{i-m}.$$

From (21) it follows that $L(P) = 0$ if P is an algebraical polynomial of degree at most k . In the space $M[c, d]$ of all bounded in the interval $[c, d] = [\min(x_{i-k}, x_{i-j}), x_{i+1}]$ functions with the norm $\|g\|_{M[c, d]} = \sup_{c \leq x \leq d} |g(x)|$ we have

$$\begin{aligned} |L(g)| &\leq (1+j) \|g\|_{M[c, d]} + \sum_{m=0}^k |\beta_{jm}| \|g\|_{M[c, d]} \\ &= (1+j + \sum_{m=0}^k |\beta_{jm}|) \|g\|_{M[c, d]}. \end{aligned}$$

The last inequality shows that

$$(23) \quad \|L\|_{M[c, d]} \leq 1 + j + \sum_{m=0}^k |\beta_{jm}| = c(k, j).$$

The exact solution of (1) satisfies $L(y') = r_i/h$ and in view of (23), applying lemma 2 we get

$$(24) \quad |r_i|/h = |L(y')| \leq c(k, j) c(k) \omega_{k+1}(y', x_{i-(k-1)2}; h)$$

(we presuppose that $j \leq k$, usually $j = 0$ or $j = 1$). From (2), (20) and (22) it follows

$$\begin{aligned} \varepsilon_{i+1} = y_{i+1} - u_{i+1} &= y_{i-j} - u_{i-j} + h \sum_{m=0}^k \beta_{jm} (y'_{i-m} - u'_{i-m}) + r_i \\ &= \varepsilon_{i-j} + h \sum_{m=0}^k \beta_{jm} (f(x_{i-m}, y_{i-m}) - f(x_{i-m}, u'_{i-m})) + r_i, \end{aligned}$$

i. e.

$$(25) \quad |\varepsilon_{i+1}| \leq |\varepsilon_{i-j}| + hK \sum_{m=0}^k |\beta_{jm}| |\varepsilon_{i-m}| + |r_i|.$$

If we know the upper bound for the errors $\varepsilon_0, \varepsilon_1, \dots, \varepsilon_k$,

$$(26) \quad |\varepsilon_i| \leq \delta, \quad i = 0, 1, \dots, k,$$

then under the notation

$$(27) \quad B = \sum_{m=0}^k |\beta_{jm}|$$

we get from (25) and (26)

$$\begin{aligned} |\varepsilon_{k+1}| &\leq (1+hKB)\delta + |r_k| \\ |\varepsilon_{k+2}| &\leq (1+hKB)^2\delta + (1+hKB)|r_k| + |r_{k+1}| \\ &\dots \\ |\varepsilon_n| &\leq (1+hKB)^{n-k}\delta + \sum_{m=k}^{n-1} (1+hKB)^{n-m-1} |r_m|. \end{aligned}$$

From the above inequalities it follows

$$(28) \quad \max_{0 \leq i \leq n} |\varepsilon_i| \leq (1+AKB/n)^n (\delta + \sum_{m=k}^{n-1} |r_m|) \leq \exp(KAB) (\delta + \sum_{m=k}^{n-1} |r_m|)$$

and from (24) we obtain

$$\begin{aligned} \sum_{m=k}^{n-1} |r_m| &\leq c(k, j) c(k) h \sum_{m=k}^{n-1} \omega_{k+1}(y', x_{m-(k-1)/2}; h) \\ &= c(k, j) c(k) \sum_{m=k}^{n-1} \int_{x_m}^{x_{m+1}} \omega_{k+1}(y', x_{m-(k-1)/2}; h) dx \\ &\leq c(k, j) c(k) \sum_{m=k}^{n-1} \int_{x_m}^{x_{m+1}} \omega_{k+1}(y', x; c'(k)h) dx \\ &= c(k, j) c(k) \int_{x_0}^{x_0+A} \omega_{k+1}(y', x; c''(k)h) dx = c(k, j) c(k) \tau_{k+1}(y'; c''(k)h)_L \\ &\leq c'_1(k, j) \tau_{k+1}(y'; h)_L. \end{aligned}$$

So (28) and (29) prove

Theorem 3. *If we solve numerically the problem (1), (2) using Adams' extrapolated formula (20) the following estimate*

$$\max_{0 \leq i \leq n} |y_i - u_i| \leq \exp(KBA) (\delta + c'_1(k, j) \tau_{k+1}(y'; h)_L)$$

holds, where the constants δ , B and $c'_1(k, j)$ are given by (26), (27), (29).

B. Interpolation formulas. Adams' interpolated formulas can be obtained if we integrate (18) in the interval $[-j, 0]$. Then

$$(30) \quad u_i = u_{i-j} + h \sum_{m=0}^k \alpha_{mj} u'_{i-m},$$

where the constants α_{mj} are obtained in the same way as β_{jm} in (20) and for every polynomial P of degree at most k we have similarly to (21)

$$(31) \quad \int_{-j}^0 P(x_i + ht) dt = \sum_{m=0}^k \alpha_{mj} P_{i-m}.$$

The exact solution y of (1) satisfies the equality

$$(32) \quad y_i = y_{i-j} + h \sum_{m=0}^k \alpha_{mj} y'_{i-m} + r_i,$$

If we consider the linear functional $L(g) = \int_{-j}^0 g(x_i + ht) dt - \sum_{m=0}^k \alpha_{mj} g_{i-m}$, then in view of (31) it follows $L(P) = 0$ for every polynomial P of degree $\leq k$ and analogously as in (23)

$$(33) \quad \|L\|_{M[c, d]} \leq j + \sum_{m=0}^k |\alpha_{mj}| = c_1(k, j), \quad [c, d] = [x_{i-k}, x_i].$$

From (30) and (32) applying Lemma 2 we get

$$(34) \quad |r_i|/h = |L(y')| \leq c_2(k, j) \omega_{k+1}(y', x_{i-k/2}; h)$$

and

$$\begin{aligned} \varepsilon_i &= y_i - u_i = y_{i-j} - u_{i-j} + h \sum_{m=0}^k \alpha_{mj} (y'_{i-m} - u'_{i-m}) + r_i \\ &= \varepsilon_{i-j} + h \sum_{m=0}^k \alpha_{mj} (f(x_{i-m}, y_{i-m}) - f(x_{i-m}, u_{i-m})) + r_i. \end{aligned}$$

The last inequality and (2) give

$$|\varepsilon_i| \leq |\varepsilon_{i-j}| + hK \sum_{m=0}^k |\alpha_{mj}| (|\varepsilon_{i-m}| + |r_i|)$$

and if the condition $1 - hK|\alpha_{0j}| = 1/\rho > 0$ is fulfilled then

$$(35) \quad |\varepsilon_i| \leq \rho (|\varepsilon_{i-j}| + hK \sum_{m=1}^k |\alpha_{mj}| (|\varepsilon_{i-m}| + |r_i|)).$$

Let us denote $\sum_{m=1}^k |\alpha_{mj}| = B_1$ and assume that $|\varepsilon_i| \leq \delta, i = 0, 1, \dots, k-1$. Then from (35) we obtain

$$\begin{aligned} |\varepsilon_k| &\leq \rho [(1 + hKB_1)\delta + |r_k|] \\ |\varepsilon_{k+1}| &\leq \rho^2(1 + hKB_1)^2\delta + \rho^2(1 + hKB_1)|r_k| + \rho|r_{k+1}| \end{aligned}$$

$$|\varepsilon_n| \leq \rho^{k-k+1}(1 + hKB_1)^{n-k+1}\delta + \sum_{m=k}^n \rho^{n-m+1}(1 + hKB_1)^{n-m}|r_m|$$

and

$$\max_{0 \leq i \leq n} |\varepsilon_i| \leq \rho^n(1 + hKB_1)^n[\delta + \sum_{m=k}^n |r_m|].$$

Repeating now (29) and using (33) we prove

Theorem 4. *If we solve numerically the problem (1), (2) using Adams' interpolated formula (30) then under the condition $1 - hK|\alpha_{0j}| > 0$ the following estimate*

$$\max_{0 \leq i \leq n} |y_i - u_i| \leq c_3(k, j) [\delta + \tau_{k+1}(y'; h)_L]$$

holds.

Using the properties (3) of the modulus $\tau_k(f; \delta)_{L^p}$ series of corollaries can be obtained from Theorems 1—4. Also the well known order for convergence of Runge—Kutta's and Adams' methods come out under weaker conditions of smoothness of the solution of the equation (1). For example let us mention that for order of convergence $O(h)$ of Euler's method (4) a bounded variation of y' is enough, not the boundedness of y'' .

REFERENCES

1. Бл. Сендов, В. Попов. Числени методи, II. София, 1978.
2. Н. С. Бахвалов. Численные методы, т. I, Москва, 1973.
3. А. С. Андреев, В. А. Попов, Бл. Сендов. Оценки погрешности численного решения обыкновенных дифференциальных уравнений, *ЖВМ и МФ*, **21**, № 3, 1981.
4. А. Андреев, В. А. Попов, Бл. Сендов. Теоремы типа Джексона для наилучших односторонних приближений тригонометрическими многочленами и сплайнами. *Мат. заметки*, **26**, № 5 (1979).
5. Е. П. Долженко, Е. А. Севастьянов. О приближениях функций в хаусдорфовой метрике посредством кусочно монотонных (в частности рациональных) функций. *Мат. сборник*, **101**, 1976, 508—541.
6. K. Ivanov. On a new characteristic of functions. *Serdica*, **8**, 1982, 262—279.
7. H. Whitney. On bounded functions with bounded n th differences. *Proc. Amer. Math. Soc.*, **10** (1959).

Centre for Mathematics and Mechanics
1090 Sofia P. O. Box 373

Received 14. 5. 1982